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SECTION - 11
MATHEMATICS
1+P 1-P] _
[ p ] x [ p ] =7
P24 1 1 | —p?
m 2 S N O =

Surface area of a sphere is 616 sq.cm. Which of the following is an incorrect
alternative related to the sphere with double the radius of that sphere?

(1) Surface area will be 2464 sq.cm.
(2) Surface area will be 1232 sq.cm.
(3) Surface area will increase by 1848 sq.cm. than first sphere.

(4) Surface area will be four times the surface area of first sphere.

Anjurani weighed an object and noted it’s weight in four different ways as
given below. Which two alternatives from the given, denote the same weight?

(1) 12 kg. 175 deca gm. (2) 13 kg. 75 gm.

(3) 121 hecto gm. 75 deca gm. (4) 135 hecto gm. 250 gm.
Side of the adjoining square MNOP is 18 cm.
Points ‘X’ and ‘Y’ are the midpoints of the sides

MP and NO respectively. Find the area of the
shaded region.

(1) 324 sq.cm. (2) 162 sq.cm.

(3) 81 sq.cm. (4) 243 sq.cm.

SPACE FOR ROUGH WORK
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162 (2) 324 (1)
243 (4) 81 (3)
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30.

31.

32.

33.

34.

[(16xy+4y2+16x2) |Gyt |
(16x2—4y?) 1 14x=2)
1 1 2) 0
3) 2 + 4 @) 4x — 2y

A square shaped compound of a temple has side 40 m. On each side of the
compound, triangular gardens of side equal to that of the side of the compound
are there. What will be the total cost of 5 rounds of wire fencing for protection
from their outer edges only, for all the gardens, at the rate of Rs. 80 per m
of wire?

(1) T 256000 (2) % 160000
3) T 512000 (4) T 128000

Rs. 9700 are invested in the bank with simple interest at the rate of 5 p.c.p.a.
To get the same amount that will be received in 4 years in 2% years only,

by how much should the rate of interest needs to be increased?
(1) 8% 2) 5%
3) 3% 4) 2.5%

If (x—y)?2 = 49 and (x+y)> = 169 then find (4xy) = ?
(1) 30 (2) 60
(3) 90 4) 120

All the vertices of a triangle are on the circumference of the circle at equal
distances from each other and at a distance of 14 cm. from the centre of the
circle. What will be the length of the median of that triangle?

(1) 7 cm. (2) 14 cm.
(3) 21 cm. (4) 28 cm.

SPACE FOR ROUGH WORK
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31.
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14 (2) 7 (1)
28 (4) 21 (3)
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3s.

36.

37.

38.

39.

Which of the two alternative expressions from the given are perfect squares?
(1) 2 -2+ x32) (2) (4m? — 160 — 16)
(3) (25p% + 364 — 30pq) (4) (64ab + 64a® + 16b?)

What will be the eighth odd number after the even number (3x — 5)?

(1) (GBx - 22) 2) (Bx - 13)

(3) (B3x + 10) 4) (GBx +3)

While selling an article, if Raghav increased its selling price by Rs. 384 he

will have 5% profit instead of 3% loss. What should be the original price of
the article?

(1) T 19200 2) T 12800
(3) T 7680 (4) T 4800

Two triangles are formed by diagonal
BD of kite ABCD as shown in the

figure. Which test from the following A
is not applicable for proving these two
triangles congruent?
B - D
(1) S-A-S E
(2) S-S-S
(3) A-S-A C

(4) Hypotenuse-side

Rafig has Rs. 28,500 with him in the form of some I 2000 notes and some
% 500 notes only. Which of the following could be the number of ¥ 500 notes?
(1) 57 (2) 25

(3) 23 4) 11

SPACE FOR ROUGH WORK
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36.
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25 (2) 57 (1)
11 (4) 23 (3)
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40.

41.

42.

43.

44.

ik _4 a0 —
If =55 =3 then ‘k’ = ?
(1) 9 2) V16
(3) 16 4 9
Area of the square hall with height 4 m. is 49 sq.m. What will be the total

cost (in rupees) of colouring all the walls of that hall at the rate of Rs. 300
per sq.m.?

(1) 11200 (2) 74000

(3) 33600 (4) 42000

In a transaction, if the selling price is four times the loss, then what is the
percentage loss to the seller?

(1) 20 (2) 25

3) 125 @ 1%

The conical tent with height 21 m. has base circumference 176 m. How much
air (in cubic m.) can be contained in that tent?

(1) 17248 (2) 2464

(3) 7840 (4) 15680

How many shares of Rs. 500 each, did Pari purchased, if she spends Rs. 46350
with 3% commission?

(1) 95 2) 90

(3) 8l 4) 87

SPACE FOR ROUGH WORK
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45. A side of a square is congruent to the 30 cm. diagonal of second square. Select
an incorrect alternative from the given, for the relation between the areas of
two squares.

(1) Areas of both the squares are not equal.

(2) Area of the second square is half that of the first square.

(3) Area of the first square is more by 900 sq.m. than the other square.

(4) Area of the second square is less by 450 sq.m. than the area of the first

square.

46. In the adjoining circle with centre C, P
mZ/PRS = 55°; then m/PSQ = ?

(1) 55°
2) 40°
(3) 45° R\/S
(4) 35°

47.  An obtuse angle is formed between the hour hand and minute hand of a clock.
Which two alternatives from the following will correctly represent the possible time?

(1) 1:20 hrs. (2) 11:40 hrs.
(3) 4:05 hrs. (4) 8:55 hrs.

48. Ratio of the lengths of the diagonals of a 20 cm. sided rhombus is 3:4. What
will be the area in sq.cm. of that rhombus ?

(1) 768 (2) 384
(3) 192 4) 96

SPACE FOR ROUGH WORK
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49.  After reading %thpart and 68 pages of a book, 92 pages are still remaining.
What is the total number of pages of that book?

(1) 360 (2) 280
(3) 153 4) 117

Q. 50 and 51 Directions :

In a school, there are 50 students on roll in each of Std. V to Std. VIII. Below
given joint bar diagram is representing attendance of the students Standardwise.
Observe the graph and answer the questions.

Scale : on Y -axis
1 cm. = 2 boys / girls

7 IS
Y-axis |

AN X D

Boys Girls

)

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,

(\S)
=

\8)

(e}

)

Presentee (attendance)

ol S SV RS S RV SRR Y

d\ o <Rl \OTEN e \ile o}

N N

A
\

X1S

S

NA

<
1

()

‘ Fifth Sixth Seventh | Eighth
- = Standard - 3

Yy

SPACE FOR ROUGH WORK
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50. By what percentage the present girl’s attendance is more than the present boy’s

attendance?
(1) 10 2) 2
(3) 20 4) 2.5

51. By considering attendance of both boy’s and girl’s, which standard has the
least attendance?

(1) Eighth (2) Seventh
(3) Fifth (4) Sixth

52. If 25% of 780 = M% of 1950 then ‘M’ = ?
(1) 10 2) 12
(3) 8 4) 14

53. If L.C.M. of two consecutive even numbers is 312, then what will be the sum
of these two numbers?

(1) 48 (2) 46
(3) 52 4) 50

54.  All points shown on the given number-line are at equal distances.

I(UR) — KQT) = ?

P Q R S T uo

e
8

(1) IRS) (2) UTU)

(3) IQR) 4) 1(SQ)

SPACE FOR ROUGH WORK

0211-Urdu Set-A 20 of 32 Contd...



S nsl it ENTSUd Db UL g P Tesle S0
2 () 10 (1)
2.5 (4) 20 (3)
e (i 2o Setla S T S Ll Sl ) s,
S (2) J#T (1)
5% @ SEANE
M= 235 7806 25 % =1950 M%  52.
12 (2) 10 (1)
14 (4) 8 (3)
s dnyf Glellie 31215 ¢ APNS-T Sg T )
46 (2) 48 (1)
50 (4) 52 (3)
[(UR)~1QD) = & 2 sl 63615 Ab6 i s wdl J5 54,
Q R S T §]
3 ’
8
[(TU) (2) I(RS) (1)
[(SQ) (%) I(QR) (3)

0211-Urdu Set-A 21 of 32 P.T.O.



O

e St Ste Se Sto Sl Sto Mo i Mo Ne Sl Ne Sle Sie Sle Ste St Ste St Ste St Sto ste S0 3

55.  Five years ago, mother’s age was twice her daughter’s age. If the ratio of their
present ages 1s 11:6, then what will be the difference in their ages (in years)
five years hence.

(1) 20 (2) 25

(3) 30 4) 35

56. Ifa-+b=13 and ab = 36 then a2 + b2 = ?
(1) 169 (2) 81

(3) 97 4) 16

57. Which of the two options given below are incorrect statements?
(1) All integers are not real numbers.
(2) Some rational numbers are integers.
(3) All rational numbers are integers.

(4) Some integers are not whole numbers.

58.  Following table shows the subjectwise marks scored by a student in a summative
test. Find the average marks.

Subjects | Marathi | Hindi Maths | Science | Social Science

Marks 32 36 48 44 40
(1) 40 (2) 38
(3) 42 4) 36

SPACE FOR ROUGH WORK
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59. In the adjoining figure,
i i P S
line AB || line CD and A R\ /71 B
mZRGC = 50°, then find s F
m/SFA — m/PEA = ?

(1) 50°

(2) 80° ¢ G H D

509 >
3) 100° R 5&

4) 130°

N

60. 4b-2a+5-3b-9+52—4+3b-2a=2
(1) 4b + 9a — 4 (2) 2a + 4b — 8
(3) a—4b -8 (4) a+ 4b — 8

61. What will be the difference in rupees in the simple interest and the compound
interest earned on Rs. 5000 in 2 years at the rate 5 p.c.p.a.?

(1) 125 (2) 25
(3) 375 (4) 50

62. Average weight of Siya and Nisha is 29 kg. Average weight of Fiza and Siya
1s 26 kg. If the total weight of Nisha and Fiza 1s 50 kg., what will be the
maximum weight (in kg.) amongst the three girls?

(1) 25 (2) 28
(3) 30 4) 34

SPACE FOR ROUGH WORK
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> m/SFA - m/PEA =6 2 Jn

50° (1)

N 80° (2)

<§ G, H Dy 100° (3)

509 \ '
R Q 130° (4)

4b—-2a+5-3b-9+5a—-4+3b-2a= (S 9
2a+4b -8 (2) 4b+9a—4 (1)

a+4b-8 (4) a—4b-8 (3)

¥n 36 & S s A6 2 60 5000 = TSI $6ae G S
25 (2) 12.5 (1)

50 (4) 37.5 (3)

I I Zp S e K 26 WihatBbniit —e (LE 29 isbalk 2 pm S
¥ L FE il ot UF Ut 50

59.

60.

61.

62.

28 (2) 25 (1)
34 (4) 30 (3)
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63. A work is completed by some workers in a few days. If the number of workers
is made %rd times the original number of workers, then how many times will

be the days required to be increased than the original to complete the same

work?
1 3 @ 15
3 & @

64. Length of the longest chord of a circle is 7 m. What will be the length of
the parallel chord to it, at a distance of 2.1 m. ?

(1) 2.8 m. (2) 5.6 m.
3) 42 m. (4) 3.5 m.

65.  If 163 = V4% ; then k = ?

(H 1 (2) 6
(3) 12 4) 17

66.  In the adjoining figure, CJEFGH is a rhombus with
diagonal 28 cm. and vertices are on the circle with E F
centre ‘O’. Find the area of the shaded region.

(1) 56 sq.cm. 0)
(2) 112 sq.cm.
(3) 105 sq.cm.
(4) 210 sq.cm.

H G

67. Which of the following two alternatives are perfect cube numbers?
(1) 0.0270 (2) (—0.000625)
(3) (-13.310) (4) 0.0729

SPACE FOR ROUGH WORK
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I 2 Ladad§usmp Il L es g L St undimpdirk ] 6.
?fu@mfff_w&&wﬁ@iﬁf
14 2
2 @ 3
1 1
L@ SaNE)
d//“;dﬂ}")ﬁr/?yﬁff 2.1 c,u“'ufg//bu”"gff 7 &HJ)}G%Q%L;/"}.@ 64.
5.6 (2) 2.8 (1)
3.5 (4) 42 (3)
K=2dk 16 =449 S 65.
6 (2) 1 (D)
17 (4) 12 (3)
. b e 28 U S luei il OEFGH AFUYS 6.
SE0i ki1t g b O sl U
O ??n(d‘/g
112 (2) 56 (1)
H G 210 (4) 105 (3)
Ut )’M.,»(J“)(U&U}l}»c ufc'_uf J: 567,
(=0.000625) (2) 0.0270 (1)
0.0729 (4) (-13.310) (3)
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68. By how much is the greatest of the following numbers is greater than the

smallest of the given numbers. %, %,%,g,%
5 1

M 2) 3¢
2 1

3 15 @ 2

69. ‘Diagonals of the are perpendicular bisectors of each other.’

Choose the correct alternative from given options to complete the above statement.

(A) Rectangle (B) Square (C) Rhombus
(D) Parallelogram (E) Kite

(1) Only A and B (2) Only B and C
(3) Only B, C and E (4) Only A, B and E

70.  Observe the two planes X and Y shown in the diagram

and select ‘two correct’ statements from given.
(1) Points F, B and C are belonging to different planes.
(2) A line is formed where two planes intersect.

(3) Point A, G and E are non-collinear points lying in

the same plane.

(4) Two planes are parallel to each other.

71.  Spandan purchased two articles each for Rs. 3750 when 8% discount was
declared. How many rupees should he pay to the seller for this purchase?

(1) 7200 (2) 3450
(3) 6900 (4) 8100

SPACE FOR ROUGH WORK
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1 S
30 (@) 1z (D
) 5 0
JVC'—J“JC“J-LL/(}{)&“:« “_ujL/Jg‘%JGL 5’)(5;/»..9]}(})7»5 ______ 769,
-)/C/G‘“"gag
o =c &r=B Qo Uznlssy sl 1246 = A
) LUeyi$i5 = D
CHBI~ () B sl A (1)
E »/ B,AZ~ (4) E » C,BS~ (3)

RSB G et i
LA, € B, FLE (1)

e b U TR U (2)
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I o LISE (4)

L6 E T a A Zodhed s 3750 L plylnulbefud 2T 71,
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3450 (2) 7200 (1)
8100 (4) 6900 (3)
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72. In the adjoining figure of AEFG, E
point H is the mid-point of the seg FG.
If mZEFH = 45° and
I(EF) = (EG) = 10y2 cm.,
then /(EH) = ? cm.

(1) 1042 o
F A4 G
(2) 10 H
3) 20
4) 20v2
73. (MmMm~+9 (m—-95] —[(m—-8 (m+ 4)] =7?
(1) (8m — 13) (2) (m -5)
(3) (m - 4)? 4) (m + 77)
74. Height of the trapezium PQRS
shown in the adjoining figure P : S
is 8 cm. seg ST = seg PS and
I(PQ) = I(SR) = 17cm. ‘
Then find the perimeter \«\0& 8 cm. ¢
of LJPQRS in cm.
(1) 80 (2) 96 Q T R
(3) 88 4) 72

75. What is the compound interest (in rupees) for Rs. 10000 for two years six
months, at the rate of 10 p.c.p.a.?

(1) 2650 (2) 3310
(3) 2500 (4) 2705

SPACE FOR ROUGH WORK
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£ < B FG s, H B ABFG AU T
[ (EF) =1 (EG) = 102 (") mZEFH = 45° )1
1(EH) =& 2 3
pA45° L G 10 (2) 10v2 (1)
20/2 (4) 20 (3)
[(m+9)(m=5)]=[m—-28) m+4] = 2 73.
(m=35) (2) (8m —13) (1)
(m +77) (4) (m— 42 (3)
) . o 800 PQRS Il 4.
[(PQ) =1(SR) = 17 (2343 ST = 5 PS
(Q 8 1 ?Kn(ﬂ)w{ [0 PQRS ¥
96 (2) 80 (1)
Q T R
72 (4) 88 (3)
“¥nenE b 6 b 260 100000 AU-36a23 10 75
3310 (2) 2650 (1)
2705 (4) 2500 (3)
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